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Exam 2 Spring 2010

Name_________________________

Psych Stats Spring 2010 Brannick  Exam 2
Instructions:  Write your name and U number on the scantron.  Answer any 40 of 45 questions on the exam by bubbling in the best of the four alternatives given.  For those questions you wish to omit, bubble in “e.”  If you answer all 45, I will choose the last 5 for you, so it is in your interest to pick 5 and bubble in “e”.  You can take the printed exam with you.  Give the scantron to your lab instructor (or proctor) when you are done.
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Tabled values of z, the unit normal.

	Z
	Between mean and z
	Beyond z
	
	Z
	Between mean and z
	Beyond z

	0.00
	0.0
	50.00
	
	0.90
	31.5
	18.41

	0.10
	3.98
	46.02
	
	1.00
	34.13
	15.87

	0.20
	7.93
	42.07
	
	1.10
	36.43
	13.57

	0.30
	11.79
	38.21
	
	1.20
	38.49
	11.51

	0.40
	15.54
	34.46
	
	1.30
	40.32
	09.68

	0.50
	19.15
	30.85
	
	1.40
	41.92
	08.08

	0.60
	22.57
	27.43
	
	1.50
	43.32
	06.68

	0.70
	25.80
	24.20
	
	1.60
	44.52
	05.48

	0.80
	28.81
	21.19
	
	1.65
	45.00
	05.00

	
	
	
	
	1.70
	45.54
	04.46

	
	
	
	
	1.96
	97.50
	02.50


Critical values of t, alpha = .05, two-tails

	df
	t
	df
	t

	1
	12.706
	6
	2.447

	2
	4.303
	7
	2.365

	3
	3.182
	8
	2.306

	4
	2.776
	9
	2.262

	5
	2.571
	10
	2.228


Chapter 5 Standard Error of the Mean
1. The sampling distribution is a distribution of what?
a. A statistic over all possible samples

b. All possible rolls of dice

c. Raw scores drawn from a population

d. Rejection regions

2. Suppose 50 people are repeatedly sampled from a population in which the standard deviation is 20. What would the standard error be?

a. .4

b. 2.5     

c. 20/sqrt(50)

d. 50/sqrt(20)

3. Suppose a population mean is 10 and the standard error is .5 based on samples of N=500.  What percentage of means in the sampling distribution should fall above 10 ?
a. Cannot be determined
b. 25
c. 50
d. 69.15
4. One of the main uses of statistics is to estimate ______.
a. parameters

b. populations

c. qualities

d. samples

5. What is the meaning of bias in the statistical sense?
a. The degree to which the sampling distribution is skewed

b. Whether the mean of the sampling distribution equals the parameter

c. Whether the standard deviation of the sampling distribution equals zero

d. Whether the standard deviation of the sampling distribution equals the parameter

6. Suppose the population value of the mean is 200, the population standard deviation is 10.  Further suppose that we have sampled 25 people and found a sample mean of 210.  What is the z score for our sample mean?
a. -5
b. -1

c. 1

d. 5
7. Suppose a standard deviation for raw scores is 14 and the sample size is 49.  What is the standard error?
a. .5
b. 2
c. 3
d. 9
8. On a test, 
[image: image10.wmf]100

=

m

, 
[image: image11.wmf]15

=

X

s

, and N=100.  What will be the mean of the sampling distribution of means for this test?

a. .15

b. 1.5
c. 15
d. 100
Chapter 6 Using Probability to make Decisions about Data (plus confidence intervals)
9. The probability of any event equals its ________ in the ________.
a. Proportion, total

b. Relative frequency, population

c. Relative frequency, sample

d. Walk, park

10. About what percent of the sampling distribution of the means will be smaller than one standard error below mean?
a. 16
b. 25
c. 34
d. 50
11. A student organization sells 200 lottery tickets labeled 1 to 200, one of which will be declared the winner in a random drawing.  What is the probability that the winning ticket will fall within the tickets numbered 1 to 25?  
a. 1/200
b. 1/100

c. 1/4

d. 1/8
12. A population has a mean of 500 and a standard deviation of 100  (
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).  We draw two samples from this population.  For sample A, 
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.  Sample B is said to be more _____ than Sample A.
a. discrepant

b. negative

c. representative

d. sensitive

13. Sampling error occurs because of  ______.
a. Nonrandom sampling

b. Poor experimental design

c. Random chance

d. Tampering with ballot boxes

14. Suppose we construct a 95 percent confidence interval about the sample mean.  What is the interval supposed to contain?

a. 95 percent of the data

b. 95 percent of the sample means

c. The population mean

d. The rejection region

15. Suppose we sample N=81 people from USF and find that they see an average of 5 movies a month (standard deviation is 4.5).  What is a reasonable confidence interval for the mean for all USF students?
a. .5 to 9.5

b. 3 to 7

c. 4 to 6

d. 4.5 to 5.5

16. You are conducting a marital satisfaction survey.  If you want your estimate of the population mean satisfaction to be more accurate, one thing you can usually do is to _____.

a. Ask your friends

b. Get more people to complete the survey

c. Increase your confidence interval

d. Pay your participants more

17. The critical value is a number that shows the edge or border of the  _______.

a. Null hypothesis

b. Population

c. Rejection region

d. Sampling error

Chapter 7 z test

18. If the sample result falls in the rejection region, the result is said to be _____?
a. A type I error

b. A type II error

c. Rejected

d. Statistically significant

19.  Assume the following null hypothesis:  
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, raw data are normally distributed, and the sample size is 100.  What will be the mean of the sampling distribution of means?
a. 4
b. 8
c. 20

d. 80
20. For the above problem (
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, raw data are normally distributed, and the sample size is 100), what will be the shape of the sampling distribution of means?
a. Negatively skewed

b. Normal

c. Platykurtic

d. Positively skewed

21. For the above problem (
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, raw data are normally distributed, and the sample size is 100), what is the standard error of the mean? 
a. 2
b. 8
c. 10
d. 20
22. For the above problem (
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, raw data are normally distributed, and the sample size is 100), for a two-tailed test, about where does the upper rejection region begin?
a. 80

b. 82

c. 84

d. 96

23. For the above problem (
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, raw data are normally distributed, and the sample size is 100), suppose we found a sample mean of 77.  Such a result would cause us to __________.
a. Fail to reject the null

b. Reject the alternative

c. Reject the null

d. Shift the rejection region

24. Significance testing lets us make decisions about _______ from ______ data. 
a. Facts, opinions

b. Populations, sample

c. Treatments, population

d. Treatments, skimpy

25. The basis of the ‘what if’ scenario that allows us to compute probabilities is called the _____.
a. Alternative hypothesis

b. Axiom system

c. Null hypothesis

d. Rejection region

26. A rejection region is a place in the sampling distribution that is _____ if the ____ is true.  
a. Consequential, null

b. Likely, null

c. Unlikely, alternative

d. Unlikely, null

27. A marketing firm wants to know if an improvement to a toy increases its desirability to children.  From previous research, the firm knows the amount of time a child will spend looking at the current display package.  They will sample some children and see how long they spend looking at the new package to see whether the children spend more time looking at the improved toy.  What is the null hypothesis for the study?
a.   children spend more time looking at the old toy

b.  children spend the same amount of time looking at the new and old toy

c.  children spend more time looking at the new toy

d.  children ignore the new toy

28. For the marketing study above, what is the most likely alternative hypothesis?  
a. children ignore the new toy

b. children spend more time looking at the new toy

c. children spend more time looking at the old toy

d. children spend the same amount of time looking at the new and old toys

29. In the marketing study above, if the marketing firm finds a significant result, what are they likely to recommend to their toy manufacturing client?
a. Keep producing the old toy

b. Produce both toys

c. Produce neither toy

d. Start producing the new toy

30. The 
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for women on a test of emotional control is 100.  We test a sample of men to see if they are different from women.  What is the null hypothesis?
a. 
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31. Suppose we try out a new method of teaching the t-test in intro stats.  On the basis of our randomized trial, we determine that there is a statistically significant difference, so our new teaching method is effective.  But further suppose that we have made a mistake, and that the truth is that our method is not effective, but we just got lucky in our trial.  What kind of error will we have made?
a. Type A error
b. Type I error

c. Type II error 

d. Type III error 

32. When computing a statistical test, the critical value of the statistic comes from
a. A tabled value

b. Statistical convention for a particular field

c. The experimenter who sets the criterion

d. The sample

33. Suppose our null hypothesis is 
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, and we desire a two-tailed test.  What should our alternative hypothesis be?

a. 
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34. Miracle Grow plant food claims that its plant food will results in bigger rose blooms.  You convince your neighbors to help you conduct a study to find out if this is true.  Better homes and gardens says the Babe Ruth variety averages 4 inches in diameter when fully open.  You and your neighbors grow some of these roses and sample 81 blooms at random.  Your collection of blooms has an average of 4.5 inches in diameter, with a .5 inch standard deviation. What is the null hypothesis for this study?    
a. 
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35. For the plant food problem, what is the standard error of the mean?

a. .5/sqrt(9)

b. .5/sqrt(81)

c. 4.5/sqrt(9)

d. 4.5/9

36. For the plant food problem, what is the alternative hypothesis?
a. 
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37. Suppose we do the study and we fail to find a significant difference.  But further suppose that our results was just chance, so that really the plant food does result in bigger blooms.  What kind of error did we make?

a. Type A error

b. Type I error

c. Type II error 

d. Type III error 

38. For the plant food problem, suppose the standard error of the mean is .05 and the critical value of z is 2.  About how large an observed average bloom would we need to see to conclude that the plant food works as advertised?
a. 4.05
b. 4.10
c. 4.50

d. 4.60
Chapter 8  Hypothesis Testing Using the One-Sample t-Test
The next several questions concern the following scenario.  Ten randomly selected people in Noll’s Intro Psych course were provided with a computer tutor to help them study over the course of the semester.  At the end of the semester, their total percentage of points in the course was calculated.  Over the past 5 years, the average percentage of total points in the class is 75.  The following SPSS printout shows the results for the computer tutor sample.

	Case Processing Summary

	
	Cases

	
	Valid
	Missing
	Total

	
	N
	Percent
	N
	Percent
	N
	Percent

	ExamScore
	10
	33.3%
	20
	66.7%
	30
	100.0%

	Descriptives

	
	Statistic
	Std. Error

	ExamScore
	Mean
	80.3000
	.78951

	
	95% Confidence Interval for Mean
	Lower Bound
	78.5140
	

	
	
	Upper Bound
	82.0860
	

	
	5% Trimmed Mean
	80.3333
	

	
	Median
	80.0000
	

	
	Variance
	6.233
	

	
	Std. Deviation
	2.49666
	

	
	Minimum
	76.00
	

	
	Maximum
	84.00
	

	
	Range
	8.00
	

	
	Interquartile Range
	4.25
	

	
	Skewness
	-.212
	.687

	
	Kurtosis
	-.659
	1.334
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39. What is the sample mean for the participants?
a. 78.51
b. 80.00
c. 80.30
d. 82.09
40. What is estimated population variance of the scores?
a. 0.79
b. 2.50

c. 6.23
d. 8.00
41. What is the standard error of the mean for these scores?
a. 0.69
b. 0.79

c. 2.50
d. 8.00
42. For the hypothesis of interest, what is the obtained value of t?
a. (80.3-75)/.79
b. (84-76)/.79
c. (80.3-80.0)/8
d. (80.3-80)/.79
43. For the above problem, if 
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(alpha is .05), what is the critical value of t?

a. 1.96

b. 2.26
c. 2.45

d. 2.57

44. We tend to use the t-test instead of the z test in situations where we do not know the value of _____.
a. 
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b. 
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c. 
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d. 
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45. How does the confidence interval in t compare to the confidence interval in z?

a. The confidence interval in t is wider than in z

b. The confidence interval in z changes with the degrees of freedom

c. The confidence interval in z is wider than in t

d. The confidence intervals are the same
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